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Note : Attempt question from each section as per instructions

given under each section.

SECTION - A
Answer any two questions from this section in about

500 words each :	 2x20=40

Discuss the nature of rural and urban economy
as it existed in pre-British India. How would you
describe the status of its development during the
early 13th century.

Explain the role of population in economic
development.

What do you understand by the 'concept of
industrialisation ? What role was assigned to the

public sector in India's growth process ?

How does foreign trade contribute to economic
development ? What could be the major 'barriers
to trade' in obstructing its role as an 'engine of
growth' to an economy ?
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SECTION - B

Attempt any four questions in about 250 words each :
4x12=48

Briefly outline any three determinants of economic
development.

Outline the areas of deficiency in the planning

process in India which taken together amount to
'failures of planning'.

Explain the importance of agriculture in Indian
economy.

Explain briefly the causes of unemployment in

India.

Explain the concept of liberalisation. What are
its gains ?

Outline briefly the specific problems faced by the

Indian economy that necessitated the introduction
of economic reforms.

EEC-12	 2



SECTION - C

Attempt any two questions in about 100 words each :
2x6=12

Distinguish between the terms 'economic growth'
and 'economic development'.

Write a note on the 'New Wholesale Price Index

Series'.

Distinguish between physical infrastructure and

social infrastructure.

What is 'collective bargaining' ? What are the
conditions necessary for its success ?
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